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Generative modeling

Recall the supervised learning problem: we have training data (x,y) (𝑥 ∈ 𝑅𝑚, 𝑦 ∈ {− 1, + 1})
generated by P(x,y) where P(x,y) is unknown. We are given test data x’ and we want to
predict the label y’ of x’. We have two fundamental approaches to solving this problem:

Generative approach: here we try to estimate P(x,y) and then we can classify x’ by
comparing P(x’,+1) and P(x’,-1).

Discriminative approach: here we don’t bother with trying to estimate P(x,y) but instead we
focus on P(y|x). We apply Bayes rule to get P(y|x) = P(x|y)P(y)/P(x) where P(x|y) is the
likelihood.

Let’s get to specifics. How can we generate data with a neural network? For example how
can we generate artificial samples for the ionosphere dataset with a neural network?

Consider the network below which is called an autoencoder.

In the above model we reduce our input to a lower dimensional space and then increase it
back to the original space. This is called an encoder-decoder model. We can write the loss

for the above model as . Now that we have the loss we can calculate𝐿 = ||𝑥 − 𝑥'||2

and train the network with gradient descent.𝑑𝐿/𝑑𝑝,  𝑑𝐿/𝑑𝑞,  𝑑𝐿/𝑑𝑟,  𝑑𝐿/𝑑𝑠,  𝑑𝐿/𝑑𝑢,  𝑎𝑛𝑑 𝑑𝐿/𝑑𝑣
Note that labels are not required, this is unsupervised learning.

After training the above model we can generate data (at least in principle) by giving it
random vectors in the hidden space h. Does this approach actually work in practice?

This approach, while it may seem totally plausible, works poorly due to overfitting. To make it
work we regularize the loss as

. This now then becomes𝐿 = ||𝑥 − 𝑥'||2 + ||𝑝||2 + ||𝑞||2 + ||𝑟||2 + ||𝑠||2 + ||𝑢||2 + ||𝑣||2

similar to a basic variational autoencoder (VAE). We can add more terms to relieve
overfitting and the model ends up somewhat hard to train.

Is there another approach to train the autoencoder to generate better samples? We can use
the generative adversarial approach to produce better synthetic samples. Instead of using a
least squares loss we evaluate the synthetic sample by giving it a binary classifier that tries
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to distinguish between real and synthetic samples. The goal of the generator is to fool the
discriminator into thinking the synthetic image is real. This approach is called a generative
adversarial network (GAN).

Generative modeling for convolutions

Consider the network below. We apply a 2x2 convolution to a 2x2 image to get a 3x3 image.
This is the same as taking the transpose of a 2x2 convolutional matrix applied to a 3x3
image.

Algorithmically we apply the transpose convolution as shown below. We pad the 2x2 image
so that the output dimensions are 3x3. The kernel in the middle is applied to the input image
padded with zeros.
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How can we train the above network? Let us use the least squares loss function (also known
as the mean squared error MSE). Suppose we are given a set of images xi for i=0 to n-1. We
can write the loss as
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Where x’i is the generated image. Suppose the true 3x3 image xi is given in the flattened
form as xi = [q1, q2, q3, q4, q5, q6, q7, q8, q9]. Then we can write the loss explicitly as
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To train the above loss with gradient descent we need dL/dc1, dL/dc2, dL/dc3, and dL/dc4
which are straightforward to calculate from the above equation. This means we can now
train a network to generate images even if the input images [p1,p2,p3,p4] are just random
pixels. For example if the target images xi are of cats I can train a generative network to
produce images of cats starting from random vectors.

In practice the MSE loss tends to minimize error on the average across many samples. As a
result generated images may be blurred. Below we have two examples taken from the NIPS
2016 GANs tutorial.
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An alternative to the MSE loss is to use an adversarial network loss. In other words instead
of evaluating the quality of the output x’i with MSE we compare it to the true image xi using a
classifier (also known as discriminator).

𝐿𝑜𝑠𝑠 =  
𝑖=0

𝑛−1

∑ 𝑐𝑙𝑎𝑠𝑠𝑖𝑓𝑖𝑐𝑎𝑡𝑖𝑜𝑛 𝑎𝑐𝑐𝑢𝑟𝑎𝑐𝑦 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑥'
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This leads us into generative adversarial networks.

We can generate data without convolutions as well. In the example below we remove the
convolutional kernel and go straight from a 2x2 image to a 3x3 image.
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We have the option of adding a hidden layer in between as shown below.


